
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética de expoentes inteiros

(−6) − 10 = (−3) − 6 =2

(−9) − 2 =3 (−5) − (−2) =0

5 − 4 =2 4 + 2 =0

(−1) + 4 = (−4) − 9 =3

10 + 9 =3 4 − (−4) =

9 − (−8) =2 7 + 2 =2

(−7) − 10 =2 1 + (−9) =2

8 − 7 =2 (−10) + (−7) =3

(−1) − (−7) =0 5 + (−4) =2

(−8) − (−10) =2 (−9) + 7 =2
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética de expoentes inteiros

(−6) − 10 = (−16) (−3) − 6 = 32

(−9) − 2 = (−731)3 (−5) − (−2) = 30

5 − 4 = 212 4 + 2 = 30

(−1) + 4 = 3 (−4) − 9 = (−73)3

10 + 9 = 10093 4 − (−4) = 8

9 − (−8) = 892 7 + 2 = 512

(−7) − 10 = 392 1 + (−9) = (−8)2

8 − 7 = 572 (−10) + (−7) = (−1007)3

(−1) − (−7) = 80 5 + (−4) = 212

(−8) − (−10) = 742 (−9) + 7 = 882
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